The writer of the argument suggested that the teachers of high school should not assign homework more than twice a week; however, this suggestion cannot be accepted as it is because it depends on a number of premises all of which can be questioned in one way or another. 
The first problem of the argument is that the writer assumes that the students of the Marlee high school get better marks on their exams because they have less homework to do during a week; however, there is no evidence on the passage that can be the basis of the assumption. The students of the Marlee may have some extra classes that can help them to improve their understanding of the lessons; therefore, they take higher marks, and most of them did not repeat a year more than once. Also, maybe the exams on the Marlee are much easier than the Sanlee; therefore, the grades on the Marlee are better than the Sanlee. 
The second problem that appears with this argument is that the writer of the argument assumes that the students of the Marlee spend less time to do their homework than the students of the Sanlee. Nevertheless, the passage has no information that can support this assumption. For example, maybe the homework on the Marlee is harder than it is on the Sanlee, and because of that it takes more time that the students of the Marlee do their assignments, and it is crystal clear that both the quality and the quantity of the homework is important, but the quality has more influence on the learning process in math and sciences lessons, and those cannot be compared together; therefore, maybe the students of the Marlee have to spend quite a few time to do their assignments even more than the Sanlee.
The third problem that seems with this argument is that the writer assumes the situation of the students of two schools from two different areas is identical and can be compared; however, the writer did not support this assumption by giving information. For instance, maybe the economic situation of families is significantly different, and the students of the Sanlee high school have to work in a part-time job to help their families by making money. Hence, they cannot spend enough time studying and practice their lesson. 
To sum up, the recommendation of the writer cannot be accepted as a conclusion of the argument because it was shown in the body paragraph above. It depends on the number of premises all of them are disputable. The recommendation can only be accepted if the flaws already referred to are all removed.
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